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�� ���� a ������������ x ���

loga

2x2 + ax + 3

x2 + x + 2
≤ loga 3.

�� ������������������������

�� ������������� (a, b, c, d, e) ��

(a + b + c − de)2 = 2002(de− 112)2.
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(1) sin 11◦ + sin 14◦ + sin 20◦ >
√

2
2 �

(2) ������
���	��������������
����

�� �� c, d ��������� x2 − cx − d = 0 �����

α, β�Æ���� 〈an〉 ��
an+2 ≤ can+1 + dan, n = 1, 2, 3, · · · .

������
��� p, q ��������� n ���

an ≤ pαn + qβn.
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��{1, 3}, {5, 7, 9, 11}, {13, 15, 17, 19, 21, 23},
{25, 27, 29, 31, 33, 35, 37, 39}, · · ·��� n ���������
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√

(10 + x)2 + 3
√

(3 + x)2 = 3
√

(10 + x)(−3 − x) + 7
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a = log√4

⎡
⎢⎣log√4

⎛
⎜⎝
√√

· · ·
√√

4 × 4

⎞
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⎤
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√√
· · ·
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4 × 4 �� 2002 ��
���� a ���
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A =

⎡
⎣1 −2 −2

2 −1 2
2 2 −1

⎤
⎦ , B =

⎡
⎣r u x

s v y
t w z

⎤
⎦ .

	 AB = I3��� I3 ��������� y = �
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!� 	� (u, v) ��� 4x2 + 9y2 = 36 ��� uv + 4u + 6v + 1 �
����� �
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�
������ θ�� cos θ = �

�� �������Æ����
��� 4x2 + 12xy + 9y2 + 4x−
20y − 8 = 0 ��	������������� �
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